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1. BEHBOR
(1) BEHWE
EAMEEHAR 1 1 0
EAMEZRRE 1 1 0
Y BEEEMNL 1,708 945 763
W ERESIFIE 1,708 945 763
ZHE A A& 1,300 1,479 A 179
52 B K A A9 4 (1E) 400 462 A 62
52 B A e () 900 1,017 A 117
THMEe% 1,250 1,250 0
TR A RAaEa 1,250 1,250 0
SZR—RETE 10 10 0
ER—MELE 10 10 0
HER A 471 586 A 116
ZHFLE 11 1 10
ZHeR R 310 310 0
HELA 150 276 A 126
AR R AR ET 4,740 4,271 469
(2) REEH
BER 7,783 9,430 A 1,647
it gtk 3,000 3,340 A 340
BEERE 455 510 A 55
HFESA T 100 120 A 20
TRl S A 2 1,450 1,450 0
i PER 50 50 0
2=LR 215 240 A5
FEoe 7 0 7
Ztet 290 250 40
Bhpk & 400 400 0
HER 1,550 1,650 A 100
EERERER 0 1,200 A 1,200
ity 220 46

266




#} B TEE (MEETHEE ¥ W
EHE 12,623 13,137 A 514
fa %t 5,376 5,376 0
EFY 1,893 1,893 0
EBERAE 1,100 1,100 0
JERRAS TR A 448 448 0
BREER 50 50| 0
RERZBE 1,200 1,200 0
{5 E R 280 265 15
HERE 100 100 0
FIVR S A 2 250 250 0
FxEE 50 130 A 80
pirt 7 = 200 200 0
Bk 750 750 0
FHH 11 30 Al9
AlEE 700 1,005 A 305
Zrest 65 100 A 35
HoR 20 20 0
SHEER 30 20 10
M 100 200 A 100
R 20,406 22,567 A 2,161
= R E AR A 15,666 A 18,296 2,630
2. BREIEBOL 0 0 0
(1) BEHNRE 0 0 0
RENIIEE 0 0 0
(2) BEANER 0 0 0
BN BEH 0 0 0
LR SR 0 0 0
L — AR BRI PR AR A 15,666] A 18,296 2,630
—RRIERM E B RS 275,774 294,070 A 18,296
—RIEHMEHNRES 260,108 275,774 A 15,666
I HEEERMERROL 0 0 0
43S 7E R DR PE B AR 0 0 0
HEERMEN YRS 0 0 0
fEEER RS 0 0 0
I ERMEMFRRE 260,108 275,774 A 15, 666
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